


























		Question # 1 :
Estimate f'(x) , f''(x) for each xk ,, k=0,1,2,3,…10
[image: ]The output is in this table

		Question # 2 :
Estimate the integral
[image: ]
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f'(xk) 1'(xk)

12.01000000000001 12.00000000000001
13.24000000000002 12.60000000000012
14.53000000000001 13.19999999995979
15.85000000000002 13.60000000000034
17.23000000000002 | 14.39999999999965

18.7600000000000z | *9-00000000000039

20.29000000000002 15.59999999999952

16.20000000000026

7 21.88000000000001
8 23.53000000000003 16.800000000000258
9 25.24000000000003 17.39999999995953

10 27.01000000000002 15. 0000000000032
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f(x) dx

composite trapezoidal

16.26250000000000

composite simpson

16.25000000000000

G, (f)

16.25000000065615





